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Is there such a thing that — Tw> X237 779155 Poom T99KT 7% RSN 197
if he would conclude the entire statement it would be “2>

OVERVIEW

¥27 ruled that if the 75w said 1°¥n 11"1921 2"193, and regarding the second 7v, the
m5w and another testify that they recognize his signature, nevertheless the va is
5109. The reason X217 gave is that Xn5¥7 MAvw 0P 012K N, ete.” "W 17 asked,
can there be such a thing that if the m°%% would be XM2>7 7°915% p°0n it would be
qw>, and now that there is someone else with him (who concurs) it should be 709!
There is a dispute between >"w7 and Md0IN how to explain the challenge of "W 17
that "121 >7° RDX .
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Regarding this which >'"@9 explains that according to X33 if one m>v said, ‘I
recognize the signature(s) of the (2°)7¥’, it is w> -
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It is astounding; what entered s'829 mind to invalidate this v when another

person is assisting the m°>w and confirming the m°nn of the *1w 7y —
— 125090 YY D) DYV 295 *w 721N K XYY 95 HI9BNINY W NYT 119

Since X211 is not concerned for "o72r°R% when there is no other person testifying
together with him (and the vx is =w>2), since the 75w is also testifying on the
$72°N3, therefore when he says 1°%1 11921 3192 and *ny7 on the other T¥ it is ®w> -

" This MmooIn is referencing the Xn3 on the '2 Tmy.
% If we will allow this by a v3, where the 75w is authenticating three quarters of the n17¥ (the one for which he states
onn °193, and the half in which he is joined with the other person in recognizing the *1w7 7¥ nn°nr), we may assume
that people will mistakenly do the same thing by X17¥7 n1Mvw 01p to allow one T to certify three quarters of the 10w
(see "nX "7 "wM).
39"y here [(X17 7"7) and previously YoX 7"7 X,3] maintains (according to X27) that if the vx7 m>w did not say 192
onmi but instead he said (2031 *192 and) "X ¥77, I recognize the Mn°nm, the v is "w2. Therefore *w& 27 asked on X2
how can it be that if this 15w alone would have said "1k ¥71° (regarding the second signature) it would be a w3 v3,
and just because someone else is joining him and agrees that it is the signature, that it should be 910!
* According to X271 that the reason for saying 1"92 is because of nvp, there is really no need to say an21 *193; the
reason the m>w says 5"191 is in order not to confuse v’ with NMMvw Rw, and say just as by v one MW is
sufficient to be 0»pn the v3, similarly by n1ow Xw they can be 221pn with one 73. Therefore the 7°%W says an31 *192
(which is never used by n1vw IRY) to distinguish v3 from N1MVW XY and *917M°K? *NX R, See aw ' "W R,
> The w"w1 deletes the word 7w>.
® This proves that saying 2"192 is effective to prevent *215r°X (not only when saying 1213 1193, but even) when saying
1% n"192 and °ny7 on the second v 7v. The question Moo is asking is, how can there be *97mX when another
person (who is irrelevant) joins the mow.
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So certainly when there is another person testifying with him on 1 7v n»>nn that it
should be 7w> (for there is certainly no wwn of ’m‘?n’x).g

moon offers his view:
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Therefore the view of npoin is as I explained previously that if one 73\m°%w
says, ‘I recognize the signature(s) it is not effective even though he is testifying

an>1 °193, nevertheless *37 R? "Ny -
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And now it is properly understood why 829 wanted to invalidate the v3 in the case
— sa15n9N BIUN 2WN NNINN 19590Y PTIN IR X1
where the 5w and another person testify that they recognize the second

signature, it is 7100 because of confusing it with mvw “xw -
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(Just as) [since] the vx would be ®1o5, when there is no one assisting the %2 by
saying we recognize the signalture.14 mooIN continues explaining the &3 -

" There can be no wwn of MR (that we may allow 121 X117 Rv2a7 31 P°01), since the oW says 3"192 which
removes the wwn of *o%mX. This va should be w3 since if even only the m>w said *ny7 it is °w>, then certainly if
two people said °ny7 it is surely 7w>! See [however] 7w o"mn that the w"> refers to *917m°K; that we certainly have
less wwn of *97m°K (that 21 X¥27 51 p°91) by 0%1w, for that wwn is only if one of the signers died (which is relatively
rare), than the wwn of *277r°K (that *17 X"y *"v 1p) by 71 (we may come to allow every o1p with one V).
¥ mooin argues that the question of *wX 27 (according to *"w1) is so compelling; how could have X271 contemplated
otherwise; it is surely w2 (if we maintain *ny7 is W3 by v3).
% Jux 7" 897 "7 X3 See “Thinking it over’ # 1.
' See %577 71"7 X,3 MooIN that when a person says anmi %192 and it turns out not to be true, he is making himself into a
bigger liar, than if he merely said *n¥7> and it turns out not to be true, for by *n¥7 he can excuse himself that he made
a mistake in recognizing the signature but he has no excuse if he said anmi °192 and it is not true. Therefore when he
says onmi °191 he is "ov p7 and therefore we believe him, as opposed to *ny7.
' See footnote # 2. Even though maoin previously stated (see footnote # 6) that there is no concern for *>mX (even
if the m>w says T¥n n"193); however that was according to >"w" who maintains that *171 °ny7 (therefore we are
forced to say that there is no concern of *171°X); however according to Mo it is possible that X171 maintains that
o"192 can prevent 917K (of X"va mnvw arp) only if the mow states 1215 1192 (which is as the °non were 1pnn);
however when the 5w states 1°11 11192 and °ny7 (which is no longer the 1"pn, but rather similar to N1MVY 2R [see
21w MR "H1]), then 5"192 cannot prevent 217 R (of 121 X317 X271 *21 201). See following footnote # 12.
"2 The w"w amends the word 13 to read 71", The ' implies that we have no proof that there is no *»>mX by 1192
X1, since *nYT™ 1°%X1 1"'192 are 7109, See previous footnote # 11.
" In this case (where the m9w says %1 1"192 and only the 19w recognizes >3 nanm) it will be 7108 because *nyT
*17n XY, since 7 X7 (but not [specifically] because of *272m°R [since he said 5"191]).
'* The position of X271 is now more tenable. When the m>w says 1 n1"1921 2392 and "wa N R "N it is 7100
(because 11 R? °nyT°), therefore X217 adds that even if the MW and another say >ny7 it is also 1 R? because of
Mvw P12 97 R that o1 XK1mnT XYM *21 po1. However according to *"wA the ruling was that if the m%w said *ny7
he is believed, and if the 5w and another both said °*ny7 they are not believed; this is untenable!
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And *wX 29 asked; ‘is there such a thing that if he would have concluded the

entire statement (as he began) by saying also 1712 anmn1 5152, it would be =2w> -
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And because there is another person with him and they both testify that the

recognize the signature of the second 7v, we can also not disqualify the v -
:lstmh) 9392 18¥a 99N NN ONYN MTY NN ¥9) NOY

For that testimony where two people say 1v7 is not any less than if the v

himself would say anmi s193. Two o7v who recognize the signature are no less than one
%W who says anmi °193; they are both “w>.

SUMMARY

WX 27 challenges X217 (according to *"w), if one %W is believed to say *ny7, how
can two who say *nv7> make the 2109 v3. However according to m»oin the question
is that if Y915 1"192 is w2, then two 0°7¥ are certainly Ww>.

THINKING IT OVER

1. According to '°mson that >3 X% ny7, why was it necessary for X1 to say that
it is 9109 because of MVW O1pPa "MK °NX, when in this case of v3, three quarters
of the testimony is being delivered by one 7¥ (the m°%w, who testified 1xn "2 for
one W7 7V and "ny7 with another person for (half of) the second w7 73])?!18

2. How can "wX 211 argue that if 1"192 is w2 then 1R X17 should also be w3 (since
there are two 07v),"” but X217 argues that by 7nX X371 there is the wwn of *19m°K by

oW XY (and X7 Xy 001 p°01),%° which does not exist by 1213 192?21

3. How do we interpret '8§712>7 X212% %K P01, according to >"w9? mvon?

"% See “Thinking it over’ # 2.
'® According to *"wn however since 31 >Ny, there is no question, since the vx1 m°>w alone is accomplishing the
entire 01°p in accordance with the o»om nipn that a w1 MW is believed to be o>pn the va (the person who is assisting
him is irrelevant).
' See footnote # 9.
¥ See 7"nx1 1"mn # 68.
¥ See footnote # 15.
% See footnote # 11.
*! See n'"m1and 20w MR "3
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